Solucién _____

I ’ ___ Descomposicién polindmica ___

» Escribe la descomposicion polindmica de estos hlimeros:

8.645 e
94.357 =
78.044 =
631.008 S
900.410 e
60.071.605 =
21.581 =
50.020 —

» Calcula el valor de cada descomposicion:

4x10°+2x10*+4x10%3+2 —

O0x10°+2x10*+3x103+6x102+6x10+5 —

3x10*+3x103+7x102+1x10+4 -
7x107+5x10°+4 x10* + 6 x 10% + 2 =
2x103+9x102+1x10+ 3 = __
5x10°+2x10*+3x103+1x10%2+7x10 -
8x10°+5x10%+2x10 = o __
1x103+1x10+7 o
6x10*+7x10°+2x10°+9x10+9 e
2x107 +8x10°+4x10°+6x10%+4 —




